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Note :— (i) Answers may be written either in English or in
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throughout the paper.

(ii) The maximum marks printed on the question
paper are applicable for the students of the
.regular colleges (Cat. ‘A’). These marks will,
however, be scaled up proportionately in
respect of the students of NCWEB at the
time of posting of awards for compilation

of result.

Rt~ (i) 3@ q37-77 FT IR A a1 8=l fFE vE
¥ Ao AFT af IRt @ ARTH T B A
ey |

| P.T.O.



5484 2
(ii ) 79797 T sl e fAafa Fiaa (a0 47) @
Refar & fov sarea 8 1 aafd 3 5% NCWEB'
& fenffal & g9y # 9% TRUM & gEeT ® v
Fyad JEIRTT & @i |, 3P SFTE 7
Siferar 81 |
Attempt any five questions.
All questions carry equal marks
fa=dt dta g @ FeR AT |
aft g gF @ 2
1. Discuss the following approaches to estimating GDP
(a) Spending based (7.5)
(b) Income based (7.5)
S el I WO A Fefeian fafta t swer i
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2. (a) Define simple multiplier ? Derive multiplier in a

two sector economy with Consumption C =a + by
and Investment I=1. (10)
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(b) Discuss net export function. (5)

e el waw &t e ST |

3. (a) Explain how changes in government spending and
taxes affect aggregate spending ? (10)

=T td w0 N R ¥yl B @ 7

(b) Explain how monetary policy affects aggregate
spending ? (5)

maﬁﬁ?mmﬁﬁﬁﬁﬁmmﬁ

wRE R 2 7 .
.4, (a) The following data is given for an ecohomy

Consumption C =200 + 0.8YD | |

Investment I= 200

Government spending G =200

 Taxes = 0.25Y |
Export X =100
Imports M=0.1Y

(YD = Disposable income, all figures are in Billion

Dollars) -
P.T.O.
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5.

4

Compute (a) Output (Y), (b) Consumption, (c)
Budget Balance, (d) Trade Balance. (3,3,2,2)

T fgaen & R fefRee e RY @ 2
I C =200 + 0.8YD
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TWEW =F G =200
T = 0.25Y

i X = 100

FEE M=0.1Y

YD = =1 9w 3w
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(b) Discuss the concept of macroeconomic equilibrium

in the short-run. (5)

I ¥ e S AT 9 SEURIT w5 SR
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(a) What are the long-run consequences of aggregate

demand shocks ? (10)
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(b) Do you think the long-run supply curve is vertical ?
Explain. (5)
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6. How does money get in the economy ? Explain two
models of banking ? . (7.5,7.5)
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7. (a) Derive Aggregate demand curve from IS-ILM
curves. Explain the effects of expansionary

monetary policy on aggregate demand. (10)

I[S-LM T ¥ W #AT a e SN | W A W
frara@ ARw IR B W @ g AR

(b) Discuss negative supply shock in AD-SRAS

framework. (5)
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8. (a) Explain various components of balance of

payments. (7.5)
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(b) Discuss various sources of foreign currency supply
and demand. (7.5)
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